





800 N. Poplar Casper, WY 82601 (307) 266-6000 RamkotaCasper.com







he Ramkota Hotel & Conference Center in Casper, Wyoming provides a tradition of Western hospitality and a relaxing atmosphere. Located in downtown Casper, our hotel is just minutes away from local area attractions such as Ft. Caspar, the National Historic Trails Center, Hogadon Ski Area and Alcova Lake. Local shopping is easy and convenient in

# WESTERN HOSPITALITY • RELAXING ATMOSPHERE

the historic downtown area or at Eastridge Mall, Wyoming's largest mall. We also allow easy access to Casper College and the Wyoming Medical Center.

Our guests will enjoy the special attention we give every aspect of their stay. The warm and friendly atmosphere of the hotel will make you feel right at home from the moment you step inside.

### PROPERTY AMENITIES:

- Indoor water playland
- Fitness room
- Complimentary high-speed Internet access
- Business center, including guest computer and printer
- Remington's Restaurant and Spirits Lounge
- Room service
- 14,000 square feet of flexible meeting and banquet space
- Complimentary shuttle
- Complimentary parking
- Bus Parking
- Express check-out
- Complimentary Casper Star Tribune newspaper
- Laundry services

RAMKOTA HOTEL & CONFERENCE CENTER (307) 266-6000 RamkotaCasper.com





All of our guestrooms provide amenities that ensure your comfort and the conveniences of home. Our beds feature plush mattresses, triple sheeting and fluffy pillows. Guest bathrooms have beautiful granite counters and curved shower curtains. Large flat screen TVs are also a new addition to all of our guestrooms. You'll always stay connected wherever you are on property with complimentary wireless Internet in all guestrooms, public areas, and meeting spaces.

# COMPLIMENTARY WIFI • PLUSH LINENS • SPACIOUS

## GUESTROOM AMENITIES:

- 230 unique guestrooms, including a variety of suites including business-class rooms with two phone lines, and hospitality rooms
- Pillow-top mattresses, triple sheeting, and an abundance of pillows
- Large flat screen TVs
- Cable television with HBO®
- In-room coffee, iron and full-size board, hair dryer
- Microwave and mini-refrigerator
- Voice mail and dataport
- Complimentary wireless Internet access
- Complimentary local phone calls

RAMKOTA HOTEL & CONFERENCE CENTER (307) 266-6000 RamkotaCasper.com



We are proud to have made some dramatic changes over the past two years throughout the entire hotel. The building itself has undergone extensive renovation, both inside and out.

Our Wyoming Theatre seats up to 175 people in classroom style with graduated seating. It's the only in-house theater in central Wyoming!

We are confident we can handle all your meeting needs and ensure your meeting's success with our combined renovations and over 14,000 square feet of flexible meeting space.

# ONLY IN-HOTEL THEATRE IN CENTRAL WYOMING

## MEETING ROOM AMENITIES:

- 14,000 square feet of flexible meeting and banquet room space
- Large reception space adjacent to ballroom
- Complimentary wireless and high-speed Internet access
- Audio/visual equipment
- Meeting planning and catering professionals

# DIMENSIONS & CAPACITIES

#### D **EXIT** CRAND BALLROOM 172 173 170 171 CENTRAL 169 168 167 166 165 164 **TERRACE** 163 162 161 **GUESTROOMS - TWO FLOORS** Natrona Coat Check 159 TETON 156 **WYOMING** 157 **THEATRE** 154 155 Hot Tub 152 153 REST ROOMS 150 Pool 151 REMINGTON'S RESTAURANT 148 149 146 147 145 144 **CONFERENCE ROOMS** 143 142 COBBY 141 139 C 128 126 124 122 120 118 **EXIT** EXECUTIVE OFFICES SPIRITS LOUNGE 137 135 133 131 129 127 125 123 121 119 117 115 113 109 107 105 103 101 В **GUESTROOMS - SIX FLOORS** Α **EXIT EXIT**

## **GRAND BALLROOM**

12-foot ceilings

Room	Dimension	Square Feet	Theater	Classroom	Banquet	Rounds	Reception
TOTAL ROOM	59.6 x 108	6,437	850	450	625	460	1,000
North	59.6 x 27	1,609	175	90	150	80	250
Central	59.6 x 27	1,609	175	90	150	80	250
South	59.6 x 54	3,218	400	250	300	200	500

Terrace reception area is 3,000 square feet and has 15-foot ceilings. It accommodates receptions for up to 300 people.

## INDIVIDUAL MEETING ROOMS

8-foot ceilings

Room	Dimension	Square Feet	Theater	Classroom	Banquet	Rounds	Reception
Teton	48 x 24	1,152	120	60	n/a	72	130
158			40	20	20	24	50
110, 112, 114, & 116			n/a	n/a	10	n/a	n/a

## WYOMING THEATRE

13-foot ceilings and 2,750 square feet. The theatre accommodates 175 people in classroom style seating.





he Ramkota Hotel & Conference Center in Casper, Wyoming is proud to feature Remington's Restaurant and Spirits Lounge.

Remington's Restaurant serves American-style cuisine and is open from 6:00 a.m. to 1:30 p.m. for breakfast and lunch and 5:00 p.m. to 10:00 p.m. for dinner. Remington's has daily and nightly specials. In Spirits Lounge we offer menu service and daily Happy Hour special. Open 4:00 - 10:00 p.m. daily.

# SPIRITS - AMERICANA CUISINE - SERVIC<mark>e</mark>

The Ramkota's Castaway Bay is our kid favorite and mom approved indoor water playland. It's sure to be a hit with everyone whether it's a hot humid summer day or a bitter cold winter day outside. . .it's always the perfect temperature in our indoor water playland.

There are pirate water cannons, Pete the Alligator, play hoops or slide your way into adventure on our two kiddie slides. There's lots of deck room with tables and chairs when it's time to take a break and enjoy a snack.

You will be able to keep up with your fitness routine in our well equipped fitness room.



800 N. Poplar Casper, WY 82601 (307) 266-6000 RamkotaCasper.com

